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1| A 1B Ak |[AE - AR0BE| BEUY |4 v 262|600 270 2 | 165 | 33.0 EXEL, AR

2 | AEE 1B Ak |[RE - ARMEBE| ALY [y amE( 500 270 2 | 13.8 | 27.6 EXEL, AR

3| AfE 1B Aok (WA - ARMEBE| BAY)Y [y amE| 350 270 5 9.8 | 49.0 EXEL, AR

4 | AEE OIBE Ak |AR - ARLEE| B | x v afiE| 250 270 3 7.1 | 213 EXEL. XM

5 | Afg 1B Ak BIRE R Y |« v attx| 400 2701 2 | 111 | 22.2 EXEEL, PR

6 | A 1B Sk BIRE R Y |y attx| 450 270 1 | 125 | 125 EXEL, PR

7| AfE 1B Ak BIRE Y |« vtz 250 270 1 7.1 7.1 EXEL, PR

8 | AfE 1R 4k 211 RIETIY [xve 2z 450 270 1 | 125 | 125 EXEEL, PR

9 | &EE 1E Ak 2210 Y |« v attx| 500 2701 1 | 13.8| 13.8 EXEEL, PR

10 | &EE 1B Ak ZR9 R Y |y attx| 500 2701 1 | 13.8| 13.8 EXEL, PR

11| & 1 4k ZR8 Y |« v attx| 500 2701 1 | 13.8| 13.8 EXEEL, PR

12 | &EE 1B Sk PR R |« v attx| 500 2701 1 | 13.8| 13.8 EXEEL, PR

13| &EE 1B Ak ZR6 Y |« v attx| 500 2701 1 | 13.8| 13.8 EXEL, PR

14 | &EE 1B Ak ) Y |« v attx| 500 2701 1 | 13.8| 13.8 EXEEL, PR

15 | &EE 1B Hsk PR Y |« v attz| 500 2701 1 | 13.8| 13.8 EXEEL, PR

16 | &EE 1B Hsk PR3 Y |« v attx| 500 2701 1 | 13.8| 13.8 EXEL, PR

17 | & 1B Ak PR2 Y |« v attx| 500 2701 1 | 13.8| 13.8 EXEL, PR

18 | & 1B Ak PRl RIEEDY [xve2m=[ 500 270 1 | 13.8 | 13.8 EXEL, AR

19 | &8 1B Ak %%xﬁﬁuﬁé = L—2XZ |400 250 2 | 17.4 | 34.8 |MfE. 1.5FE X, HHam
20 | AEE1BE Ak | AREfAmSE = L—2Z ]300 250 2 | 13.1 | 26.2 |MfE. 1.5FE X, BHxm
21 | A 1BE Ak | ARSZATSE = L—2Z | 50 250 1 2.9 29 |FBI=E. L& &, Bik&
22 | A 1B Ak TLAL—LA1 = L—x |270 115 1 7 7.0 |FBI=E. 1L5fEE &, Bk
23| AEE 1 Ak TLA—LA1 = L—x | 70 50 | 3 1.4 42 |mBE, 155 4. BiASR
24 | AEE 1B Ak BI=E = L—x | 70 50| 3 1.4 42 |MmBE, 155 4. LS
25 | AEE 1B Ak TLAN—L2 = L—x |270 115 1 7 7.0 |FBI=E. 1L5fEE &, Bk
26 | AEE 1B Ak BLOKTME = L—x | 70 50| 3 1.4 42 |FRE, 15F5L 4. BikS
271 | AEE 1 Ak BLOKTME ZoM | FL—71 90 190 2 35 7.0 |MBIE. 1L5EE X, Bk
28 | AEE 2B FE 2015 = = W | 220 278 1 | 11.2 | 11.2 |AFE. 15FE X, BHam
29 | AEE 2B R 2015 % = L—2x | 220 277 1 | 111 | 111 |ARE. 15FE X, BHam
30 | AEE 2B FRR 2015% RIEEDY [xvsamz| 250 235 1 6.2 6.2 EXEL. XM

31 | &fE 2B i 2012 %= R Y | v ati=| 350 235 1 8.5 8.5 EXEL, BHash

32| AEE 2 FE 2025 % = W | 220 278 1 | 112 | 11.2 [FRAE. 15fEE X, BikS
33| AEE 2K RIR 2025 = = L—2x | 220 2771 1 | 111 | 111 [RRE. 15EE X, kR
34 | AEE 2 FE 2025 % RIEEDY [xvsamz| 250 235 1 6.2 6.2 EXEL. BAM

35 | KEE 2B B 2028 %= DY | v ati=| 350 235 1 8.5 8.5 EXEL, BHash

36 | AE 2B FE 2035 % = W | 220 278 1 | 112 | 11.2 [FRAE. 15fEE X, BikM
37| AEE 2B RIR 2035 = = L—2x | 220 2771 1 | 111 | 111 [RFRE. 15EE X, kR
38 | AfE 2B FE 2035 % RIEEDY [xvsamz| 250 235 1 6.2 6.2 EXEL. XM

39 | &EE 2B B 2032 %= DY | v ati=| 350 235 1 8.5 8.5 EXEL, BHasR

40 | KB 2B fREE 2065 % = W | 220 278 1 | 112 | 112 [FRAE. 15fEE X, BikS
41 | KB 2B AR 2055 = = L—2x | 220 2771 1 | 111 | 111 [RFRE. 15EE X, AR
42 | KREE 2B IR 2058 RIELY [ %> aftx| 250 235 1 6.2 6.2 EXEL, BHR&R

43 | KB 2B AR 2055 % RN Y [xve 2z 350 235( 1 8.5 8.5 EXEL, AR

44 | KREE 2B IR 20652 = W | 220 278 1 | 11.2 | 11.2 |RFE, 15FE X, BHam
45 | KB 2B fREE 2065 % = L—2x | 220 277 1 | 111 | 111 |AFE. 1.5FE X, BHam
46 | AEE 2B  fRIR 2065 RIE Y [ %> aftx| 250 235 1 6.2 6.2 EXEL, BHR&R

47 | AEE 2B AR 2065 % RIHEIY [*x v 2z 350 235( 1 8.5 8.5 EXEL, AR

48 | AEE 2B IR 2115 % = W | 220 278 1 | 11.2 | 11.2 |RFE, 15FE X, BHam
49 | AEE 2B AR 2118 % = L—2x | 220 277 1 | 111 | 111 |AFE. 1.5FE X, BHam
50 | ABE 2B AR 2115 % RIEEDY [xvsamz| 250 235| 1 6.2 6.2 EXEL. XM

51 | AfE 2  FE 2118 % RIHEIY [*xve 2z 350 235( 1 8.5 8.5 EXEL, AR

52 | A&EE 2B  FE 2125 % = W | 220 278 1 | 11.2 | 11.2 |RFE, 15FE X, BHam
53 | AfE 2 R 2128 % = L—2x | 220 277 1 | 111 | 111 |AFE. 1.5FE X, BHam
b4 | FEE 2B  FE 2125 % RAMEYIY | % v afx| 250 235 1 6.2 6.2 EXEL, PR

55 | AfE 2B FMR 2128 % RN Y [xve 2z 350 235( 1 8.5 8.5 EXEL, AR

56 | AEE 2B R 2135 % = WS | 220 278 1 | 11.2 | 11.2 |FEEE, 15EE X, BHERE
57 | AfE 2 FE 2138 % = L—2x | 220 277 1 | 111 | 111 |AFE. 15FE X, BHam
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58 iR 2135% Ry [#x vy atx| 250 235( 1 6.2 EXEL, BHosh

59 P 2135 = RIMEYIY | % v atx| 350 235 1 8.5 EXEL, PR

60 JA R 21685 % = WA | 220 278 1 | 11.2 REE. 15Fe X, Bhsm
61 SR 2155 = L—x |[220 2771 1 | 111 FRZE, 155X, BHAkms
62 J TR 2155 = BEIY | #xveaftz| 250 235 1 6.2 EXEL. BHRM

63 1R 2165 % RIEEDY [xvs sz 350 235 1 8.5 EXEL, AR

64 JA R 2165 % = WA | 220 278 1 | 11.2 A&, 15Fe X, Bhsm
65 1R 2165 = L—x |[220 2771 1 | 111 FERZE, 15Be X, ks
66 J TR 2165 = BEIY | #xveaftz| 250 235 1 6.2 EXEL. BHAM

67 1R 2165 % RIEEDY [xvs sz 350 235 1 8.5 EXEL, AR

68 JA R 218 % = WA | 220 278 1 | 11.2 ARE. 15Fe X, Bhsm
69 1R 215%E = L—2x |220 2771 1 | 111 FERZE, 15Fe X, ks
70 J TR 2215% BEIY | #xveaftz| 250 235 1 6.2 EXEL. XM

71 1R 215=F RIEEDY [xvs x| 350 235 1 8.5 EXEL, AR

72 JA R 2228 F = WA | 220 278 1 | 11.2 A&, 15fFe X, BhsM
73 AR 2025 FE = L—2x | 220 2771 1 | 111 FRZ, 15Fe 4. Bk
74 SRR 2225 %E RIET) Y [ # v aftz| 250 235( 1 6.2 EXEL. BHAM

75 Rt 2025 FE R Y [ % vtz 350 235 1 8.5 EXEL, AR

76 JA R 2235 =% = W | 220 278 1 | 11.2 A&, 15Ee X, Bhzm
77 AR 2235 % = L—2x | 220 2771 1 | 111 FRZ, 15Fe 4. Bhiks
78 SRR 2235 % RIET) Y [ %> aftz| 250 235( 1 6.2 EXEL. BHAM

79 Rt 2235 % R Y [ % v a2tz 350 235 1 8.5 EXEL, AR

80 JA R 2255 = = W | 220 278 1 | 11.2 A&, 15Ee X, Bhsq
81 AR 2255 % = L—2x | 220 2771 1 | 111 FRZ, 15Fe 4. Bhiks
82 JA R 2255 = RIEEDY [#vsamz| 250 235( 1 6.2 EXEL. BHAM

83 Rt 2255 % R Y [ % v a2tz 350 235 1 8.5 EXEL, AR

84 JA R 2265 % = W | 220 278 1 | 11.2 A&, 15Ee X, Bhzm
85 JTR 2265 F = L—2x | 220 2771 1 | 111 ARZE, 1.5Fe &, Bhiks
86 SR TR 2265 % RAMEYIY | vtz 250 235 1 6.2 EXEL, RS

87 bl 2265 % DY | * vtz 350 235 1 8.5 EXEL, BHASR

88 JA R 2318 % = WA | 220 2781 1 | 11.2 ARE. 15Ee X, BhxM
89 JTR 2318 % = L—2x | 220 2771 1 | 111 ARZE. 15Fe 4. Bhiks
90 JA R 2325 % = WA | 220 2781 1 | 11.2 ARZE. 15Ee X, M
91 JTR 2328 F = L—2x | 220 2771 1 | 111 ARZE, 1.5Fe &, Bhiks
92 JA R 2335 % = W | 220 2781 1 | 11.2 ARE. 15fEe X, BhxM
93 JTR 2338 % = L—2x | 220 2771 1 | 111 ARZE. 15Fe 4. Bhiks
94 Joa R 2335 % DY [* v am=| 250 235 1 6.2 EXEL, AR

95 il 23385 % R | * vtz 350 235 1 8.5 EXEL, BHAGSR

96 JA R 2355 % = WA | 220 2781 1 | 11.2 ARZE. 15Ee X, BhxM
97 SR 2355 % = L—2x | 220 2771 1 | 11.1 ARZE. 15Fe 4. Bhiks
98 SR 2355 % RIEY [ %> aftx| 250 235| 1 6.2 EXEL. XM

99 S5t 2352 = DY | #x v att=| 350 235( 1 8.5 EXEL, BHossh
100 SR 2365 = = W | 220 278 1 | 11.2 FERE. 15Fe X, AR
101 SR 2365 % = L—2x | 220 2771 1 | 11.1 ARZE. 15Z5e 4. Biks
102 JRR 2365 % RIELY [ %> aftx| 250 235| 1 6.2 EXEL. XM
103 S5t 2362 = R Y | #x v att=| 350 235( 1 8.5 EXEL, BHosh
104 SR 2078 = B | 150 200 2 6 R E, 1.5Fe X, AR
105 SR 2075 % = L—x | 150 199| 2 6 MR E. 156Gt X, BhikS
106 JRR 2075 % = W | 250 200 2 9.6 MRE, 15fEe X, BhiAkSR
107 SR 2075 % = L—2x | 250 199| 2 9.6 MmE, 156G X, BhikS
108 SR 2075 RIS Y [* v~ 2| 300 235 8 7.3 EXEL. XM
109 JA R 2178 % = WA | 150 200 2 6 &, 15Fe X, Bhsm
110 SR VANE=E = L—x |[150 199 2 6 R E, 1.5Fe X, AR
111 J TR BE = WA | 250 200 2 9.6 &, 15Fe K. Bhsm
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112 A8 2B /& 2178 % = L—=x | 250 199 2 9.6 | 19.2 |MAME. 15F X, XM
113 &fE 2B fBiE 2175 =% RIMEYIY | % vtz 300 235 8 7.3 | 58.4 EXEL, Brkm
114 &8 2B /& 2378 % = WA | 150 200 2 6 12.0 |FABEE. 155 &, AR
115 &fE 2B fBIE 23T5%E = L—x |[150 199 2 6 12.0 |MRE. 155 &, AR
116| A8 2B /& 2378 % = WA | 250 200 2 9.6 | 19.2 |MmAZE. 15E X, XM
117 & 2B  fBIE 23T5%E = L—2x |250 199 2 9.6 | 19.2 |MWME. 15F X, XM
118| A&fE 2B Al 2378 % RIETIY [ % v e artz| 300 235 8 7.3 | 58.4 EXEL. BHRM
119| &f8 2B /& 215 =E = W | 150 200 2 6 12.0 |mEE, 155 4. BAS
120 Af8 2B R 2718 %F = L—2x | 150 199 2 6 12.0 | E. 1.5E5 4. BikS
121 &Af8 2B /& 215 =E = W | 250 200 2 9.6 | 19.2 [EHE. 15EFL X, kR
122 Af8 2B R 2718 F = L—2x | 250 199 2 9.6 | 19.2 |MmAME. 15F X, XM
123 &fE 2B fFIE 27T5%E R Y [ % v attz| 300 235 8 7.3 | 58.4 EXEL, BRm
124 AfE 2B W | TLAL—L3 = FL—71]150 280 2 8 16.0 | E. 1.5ME 4. BiASR
125 AfE 2B  fRIE TLAL—L4L3 = L—x |[150 279 2 8 16.0 |MRE. 1.5F &, AR
126 AfE 2B  mEE | TLAL—L3 | Zof | FL—7|110 150 1 3.8 3.8 |HBIE. 155X, BikS
127 A& 2B R | TLAL—L3 | ZTofb L—x | 110 149 1 3.8 3.8 |ARE. 15EE X, BHam
128| AtE 2B B | TLAL—L3 | ZOf L—2 |230 1451 1 6.5 6.5 |ABIE. 15EE K. BHAR
129 AEE 2B /R |pr7rrvRa-L4l = W | 280 280 1 | 144 | 144 |RRE. 15FE X, BHam
130| ABE 2F&F W [(prTrrvza-onl = L—2 |280 279 1 | 144 | 144 |FFE. 15EFE X, BHam
131 AE8 2B AR RIGIZEE 1 = WA | 280 280 1 | 144 | 144 |RFRE. 15L&, HHm
132 Af8 2B /A& RIGHEE 1 = L—2 |280 279 1 | 144 | 144 |FFE. 15FE X, BHam
133 AEE 2B R |FTAL—LBEL = WEH | 350 308| 2 | 19.2 | 38.4 |[MmBE. 155X, Bk
134 AEE 28 R |TAL—LBE]L = L—2 |350 307| 2 | 19.1| 382 |[mBRE. 15fEE X, Bk
135 Af8 3R AR 30185 = = WA | 220 278 1 | 11.2 | 11.2 |RRE. 15FE X, Hham
136| A8 3B fFE 3015 = = L—2 |220 277 1 | 111 | 111 |AFE. 15FE X, BHam
137| g 3B JEEE 3018=E DY | #xveaftz| 250 235( 1 6.2 6.2 EXEEL, BHash
138| AEE 3F AR 3015 =% By [ v amz]| 350 235 1 8.5 8.5 E XL, BHsR
139| &f5 3 B 3025 = = WA | 220 278 1 | 112 | 112 [RFRE. 15EE X, BHkm
140 A8 3/ /& 3028 = = L—2x | 220 2771 1 | 111 | 111 [FRAE. 15fEE X, BikS
141 &g 3k & 3022 % R Y | v ati=| 250 235( 1 6.2 6.2 EXEL, BHasR
142 A8 3/ /& 3025 % RIEEDY [xvsamz| 350 235 1 8.5 8.5 EXEL. XM
143| &fE 3  fF/E 3035 = = WA | 220 278 1 | 112 | 112 [RFRE. 15EE X, BHkM
144 K88 3/ FE 3035 % = L—2x | 220 2771 1 | 111 | 111 [RFBAE. 15fEE X, BikS
145| Af8 3k  fEE 3032 % R Y | v ati=| 250 235( 1 6.2 6.2 EXEL, BHash
146 | A8 3/ /& 3035 % RIEEDY [xvs 2z 350 235 1 8.5 8.5 EXEL. XM
147 &fE 3  fFE 3055 = WA | 220 278 1 | 112 | 112 [RFRE. 15EE X, BHkR
148 | AfE8 3/ /& 3055 % = L—2x | 220 2771 1 | 111 | 111 [FBAE. 15fEE X, BikS
149 | &g 3k 5= 3052 % R Y | v afi=| 250 235( 1 6.2 6.2 EXEL, BHasR
150| A% 3/ /& 3055 % RIEEDY [xvsamz| 350 235 1 8.5 8.5 EXEL. BAM
1651| A% 3/ /& 3065 % = WA | 220 278 1 | 11.2 | 11.2 |FFE. 1.5FE X, BHam
152 | &fE 3f fFAE 3065 = = L—=x |[220 277 1 | 111 | 111 |ARE. 15FE X, BHam
153| &£ 3  fFmE 3065 % RIHELIY [*xve 2z 250 235( 1 6.2 6.2 EXEL, AR
154 Af& 3/ fFE 3065 % RIEEDY [xvs sz 350 235 1 8.5 8.5 EXEL. XM
1655| A% 3/ & 3118 % = WA | 220 278 1 | 11.2 | 11.2 |FFE. 1.5FE X, BHam
156 | AfE 3f  fHAE 3115=% = L—x |[220 277 1 | 111 | 111 |AFE. 15FE X, BHam
157 | &f& 3 B/ 3118 % RIHELIY [*xve 2z 250 235( 1 6.2 6.2 EXEL. AR
158| A8 3/ /& 3115 % RIEEDY [xvs a2z 350 235 1 8.5 8.5 EXEL. XM
159| A% 3/ /& 3128 % = WA | 220 278 1 | 11.2 | 11.2 |FFE. 1.5FE X, BHam
160 | #AfE 3  fHE 3125 % = L—x |[220 277 1 | 111 | 111 |RRE. 15FE X, BHam
161| &£ 3 fFmHE 3128 % RIHEDIY [*xve 2z 250 235( 1 6.2 6.2 EXEL, AR
162| &fE 3f fFHE 3125 % RAMEYIY | % vtz 350 235| 1 8.5 85 EXEL, Bkm
163 AfE 3/ FE 3138 % = WA | 220 278 1 | 11.2 | 11.2 |FFE. 1.5FE X, BHam
164 | A&fE 3F fHE 3135 = = L—x |[220 277 1 | 111 | 111 |RRE. 15FE X, BHham
165| AfE 3/ FE 3135 % RN Y [xve 2z 250 235( 1 6.2 6.2 EXEL. XM
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166 JA R 3138 % I Y [#xve a2z 350 235 1 8.5 EXEL. BHRM
167 JE1R 3155 = WS | 220 278 1 | 11.2 FRE, 15Fe X, BHAkms
168 JA R 3165 % = L—2x | 220 2771 1 | 11.1 REE. 15Fe X, Bhsm
169 ke 3158% RIMELIY |y 2tz 250 235 1 6.2 EXEL, PR
170 SR 3155 % ALY | x v aigz| 350 235| 1 | 85 EXEL, AR
171 1R 3165 = WA | 220 278 1 | 11.2 FRZE, 15Be X, ks
172 JA R 3165 % = L—2z | 220 2771 1 | 11.1 FRZE, 15EFe 4. BhiksR
173 1R 3165 = R Y [ % v aftz| 250 235| 1 6.2 EXEL. XM
174 J TR 3165 = BEIY | #veaftz| 350 235 1 8.5 EXEL. BHAM
175 1R 3218 = = WS | 220 278 1 | 11.2 FERZE, 15Be X, ks
176 JA R 218 % = L—2x | 220 2771 1 | 11.1 FRZE, 15Fe 4. BhiksR
177 1R 3218 = R Y [ % v aftz| 250 235 1 6.2 EXEEL, PR
178 SR R1ISE ALY | x v aidz| 350 235| 1 | 85 EREL, BHAS
179 1R 3228 % = WS | 220 278 1 | 11.2 FERZE. 15Be X, ks
180 JA R 3228 % = L—2x | 220 2771 1 | 11.1 FRZE, 15EFe 4. BhiksR
181 Pesgied 3025 %F R | % v ardz| 250 235| 1 6.2 E XL, BHash
182 Joa R 3225 % I Y [* v amz| 350 235 1 8.5 EREL, AR
183 AR 32385 % = WA | 220 2781 1 | 11.2 FRZ, 15fFe 4. Bhiks
184 JA R 3235 % = L—2x | 220 2771 1 | 11.1 FRZE, 15Fe 4. BikSR
185 Pesgied 3238% R | % v ardz| 250 235| 1 6.2 EXEEL, BHash
186 Joa R 3235 % I Y [* v amz| 350 235 1 8.5 EREL, AR
187 AR 3255 % = WA | 220 2781 1 | 11.2 FRZ, 15Fe 4. Bhiks
188 JA R 3255 % = L—2x | 220 2771 1 | 11.1 FRZE, 15fFe 4. BikSR
189 Pesgied 3255 % R | % v ardz| 250 235| 1 6.2 EXEEL, BHash
190 Joa R 3255 % I Y [* v amz| 350 235 1 8.5 EREL, AR
191 AR 3265 % = WA | 220 2781 1 | 11.2 FRZE, 15Fe 4. Bhiks
192 JA R 3265 % = L—2x | 220 2771 1 | 11.1 FRZE, 15Fe 4. BikSR
193 St 3262 % R Y | v ati=| 250 235 1 6.2 EXEL, BHosh
194 JA R 3265 % RIEEDY [xvs amz| 350 235 1 8.5 EXEL. BAM
195 JTR 3318 % = WA | 220 278 1 | 11.2 ARZE. 15Fe &, Bhiks
196 JA R 3315 % = L—2x | 220 2771 1 | 11.1 ARE. 15Ee X, BhxM
197 St 3312 % R Y | v ati=| 250 235 1 6.2 EXEL, BHasR
198 JA R 3315 % RIEEDY [xvsamz| 350 235 1 8.5 EXEL. XM
199 JTR 3328 % = WA | 220 278 1 | 11.2 ARZE, 1.5Fe &, Bhiks
200 JA R 3328 % = L—2x | 220 2771 1 | 11.1 ARE. 15fEe X, BhxM
201 St 3322 % R Y | v ati=| 250 235 1 6.2 EXEL, BHasR
202 JA R 3328 % RIEEDY [xvsamz| 350 235 1 8.5 EXEL. XM
203 JTR 3338 % = WA | 220 278 1 | 11.2 ARZE, 1.5Fe &, Bhiks
204 JA R 3335 % = L—2x | 220 2771 1 | 11.1 FRZ, 15fFe 4. BhikSR
205 e 3332 % R Y | #x v attx| 250 235( 1 6.2 EXEL, BHosh
206 JAR 3335 % RIEEDY [xvs sz 350 235 1 8.5 EXEL, AR
207 SR 3355 F = WA | 220 278 1 | 11.2 ARZE. 155 4. Bhiks
208 SR 3358 = = L—2x |220 2771 1 | 111 FERE. 15Fe X, AR
209 e 3352 % DY | v attx| 250 235( 1 6.2 EXEL, BHossh
210 JRR 3365 % RIEEDY [xvs a2z 350 235 1 8.5 EXEL, AR
211 SR 3365 % = WA | 220 278 1 | 11.2 ARZE. 155 4. Biks
212 SR 3365 = = L—2x |220 2771 1 | 111 FRE, 15Fe X, AR
213 e 3362 % R Y | #x v attx| 250 235( 1 6.2 EXEL, BHosh
214 JRR 3365 % RIEEDY [xvsamz| 350 235 1 8.5 EXEL, AR
215 SR 3075 % = WA | 150 200 2 6 MmE, 156G X, BhikS
216 SR 3075 = L—x |[150 199 2 6 R E, 1.5Fe X, AR
217 JA R 3075 % = WA | 250 200 2 9.6 &, 15Fe X, Bhsm
218 SR 3075 E = L—2x |250 199 2 9.6 R E, 1.5Fe X, AR
219 JA R BE RN Y [xve 22| 300 235| 8 7.3 EREL, BHAS
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220 A8 3/ R 3178 % = WS | 150 200 2 6 12.0 [MBI=. 15EE X, AR
221 Afg 3B EiR 3175 = = L—x |[150 199 2 6 12.0 | E. 155 &, AR
222 XEE 3/ R 3178 % = WA | 250 200 2 9.6 | 19.2 |MAMZE. 15F X, FHEM
223 Afg 3B EiR 3175 E = L—2x |250 199 2 9.6 | 19.2 |MWMFE. 15EFL X, kM
224 AEE 3/ RE 3178 % RIETIY [ % v artz| 300 235 8 7.3 | 58.4 EXEL. BHRM
225| AEE 3B fRAE 3375 % = W | 150 200 2 6 12.0 |mEE, 1.5EE 4. BAS
226 AfE 3/ RE 3378 % = L—2z | 150 199| 2 6 12.0 | E. 1.5E 4. BAS
227| AEE 3B fRE 3375 % = W | 250 200 2 9.6 | 19.2 [EHE. 15EFE X, kR
228 | AfE 3 fRE 3378 % = L—2x | 250 199| 2 9.6 | 19.2 |MmAMZE. 15E X, XM
229 Afg 3B EiR 3378 =E R Y [ % v attz| 300 235 8 7.3 | 58.4 EXEL, BRm
230 A8 3/ FE YANY —F = WA | 250 200 2 9.6 | 203 |MmAE. 15X, XM
231 Afg 3B EER YAhNY —= = L—2x |250 199 2 9.6 | 19.1 |MMFE. 15F X, XM
232 A#g  3BE AR UANY—ZF | BT | 4> 2| 300 235| 6 7.3 | 437 EXEL. XM
233| &xfE 3 mE | TLAL—L4 = W | 150 200 2 6 12.0 |mEE, 155 4. BAS
234 AEE 3 EE | TLA—L4 = L—2x | 150 199| 2 6 12.0 |mE. 1.5E 4. BASR
235| &fE 3 R | TLAL—L4 = WA | 250 200 2 9.6 | 19.2 [MERE. 15FE X, PHkM
236 AfE 3  mE | SLAL—L4 = L—2 | 250 199| 2 9.6 | 19.2 |ME. 15F X, FBHAM
237 &2 3B iR TLAN—L4 | BEIY [#vragE| 300 235| 8 7.3 | 58.4 EXEEL, BHash
238| AEE 3 EE |prurirza-nz = WA | 280 280 1 | 144 | 144 |RFE. 15FE X, BHam
239| &xfE 3 AE |prorrvza-n2 = L—2Z |280 2791 1 | 144 | 144 [FRE. 15B5E X, BHAS
240 A8 3/ fRE RIGHEE 2 = WA | 280 280 1 | 144 | 144 |FFE. 15EFE X, BHam
241 XEE 3B AR RIGIEE 2 = L—2x | 280 2791 1 | 144 | 144 |FRE. 15B5E X, S
242 XEE 3 FE [TAL—LEE2 = WS | 350 308| 2 | 19.2| 38.4 |[mEE. 15FEX. Bk
243 AEE 3 W [Far—LBEE2 7= L—x |[350 307 2 | 19.1 | 38.2 |[MME. 15EEX. BhkMm
244 AXfE 3B MFICU 3BIE5E = WS | 160 195 2 5.9 | 11.8 |ME. 15F X, BHEM
245 AEg 3B MFICU 3BI5E = L—2x | 160 194 2 59 | 11.8 [MERE. 15FE X, kM
246| A 3 MFICU 3/15 = RIETIY [*xveartz| 200 235 1 5 5.0 EXEL. BHAM
247 AEg 3B MFICU 3528 F = WA 130 195| 2 4.7 9.4 |mBIE. 15EE X, Bk
248 | AfE 3 MFICU 3525 % = L—x |130 194 2 4.7 9.4 |MmBIE. 155X, Bik&
249 Afg 3B MFICU 35385 % = WA | 160 195 2 59 | 11.8 [MERE. 15EE X, kM
250 AfE 3 MFICU 3535 % = L—x | 160 194 2 59 | 11.8 |ME. 15F X, BHAM
251 &fE 3 MFICU 3532 % R Y | v ati=| 200 235( 1 5 5.0 EXEL, BHasR
252| AfE 3 MFICU 3555 % = W | 160 195| 2 59 | 11.8 |MmE. 15F X, BHAM
253 | Afg 3B MFICU 3555 F = L—2x | 160 194 2 59 | 11.8 [MERE. 15FE X, BHkm
254 AfgE 3 MFICU 3555 % RIEEDY [xvsamz| 200 235 1 5 5.0 EXEL. XM
255 | AEE 3B MFICU 3565 % = WA | 160 195 2 59 | 11.8 [MEHE. 15FE X, kM
256 | AfE 3 MFICU 3565 % = L—x | 160 194 2 59 | 11.8 |ME. 15F X, BHAM
257| &fE 3 MFICU 35625 R Y | v ati=| 200 235( 1 5 5.0 EXEL, BHasR
258 | AfE 3 MFICU 3/75E = W | 110 195| 2 4.7 9.4 |MmBIE. 155X, Bik&
259 AfE 3B MFICU 3BISE = L—x | 110 194 2 4.7 9.4 |mBIx. 15EE X, Bk
260| Af 3 MFICU 3/75E = iy, 70 195| 2 3.6 7.2 |MmBIE. 155X, Bk
261 | AfE 3B MFICU 3BISE = L—x | 70 194 2 3.6 7.2 |mBIE. 15EE X, Bk
262| A 3 MFICU 3BIEE RIEEDY [xvsamz| 200 235| 1 5 5.0 EXEL, AR
263| &g 3 ERRE 3635 F = WA | 160 195 2 59 | 11.8 [MERE. 15FE X, kM
264 Afg 3BE ERYEE 3635 = = L—x |160 194 2 5.9 [ 11.8 |mBZE. 1.5F X, AR
265| &g 3k ERRE 36385 F RIHEIY [*xveaz| 200 235( 1 5 5.0 EXEL. AR
266| A 3K ERFE 3655 % = WS | 160 195| 2 59 | 11.8 [MHE. 15EE X, BHAkS
267 Afg 3k ERRE 3655 F = L—=x | 160 194 2 59 | 11.8 [MERE. 15FE X, BHkM
268 | AfE 3 ERFE 3655 % RIEEDY [xvsamz| 200 235| 1 5 5.0 EXEL, AR
269| &g 3 ERRE 3665 % = WA | 160 195 2 59 | 11.8 [MERE. 15FE X, kM
270 A<fg 3B ERYEE 3665 = L—2x |[160 194 2 59 | 11.8 |MmAE. 15@F X, kM
271 #Afg 3k ERFEE 3665 F RN Y [x v 2mz| 200 235 1 5 5.0 EXEL. BHRM
272 AfE 3 ERFE 367TEE = WA | 160 195| 2 59 | 11.8 [MRE. 15EFL X, kS
273| KfEE 3k ERRE 3675 E = L—2x | 160 194 2 5.9 | 11.8 |MmME. 15F X, FHAM
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274 AEg  3BE ERUEER 367EE R Y [*xveamz| 200 235 1 5 5.0 EXEL, BHosh
275 &8 3B ERUER 3615 =F = W | 140 195 4 5.9 | 23.6 |ME. 15E X, BHAMm
276 | Af8 3B ERYEH 361E=E = L—2x | 140 194 4 5.9 | 236 |mBZE. 155X, M
2717 Afg 3B ERYEER 36152 RIETIY [ % v artx| 550 235 4 | 13.2| 528 EXEL, Brkm
2718 | Afg 3B ERUERE 3625 = = W | 140 195| 4 5.9 | 23.6 |MBZE. 155X, BHAm
279| XRfg 3 ERUEE 3625 % = L—2x |140 194 4 5.9 | 236 |mBZE. 155X, AR
280 AEp 3% ERUEER 3625 = R Y [*xve 2z 550 235| 4 | 13.2 | 52.8 E XL, BHash
281 A<fg 3B ERFEE|TANL—LBES3 = WX | 500 190 2 | 17.3 | 34.6 |MBIE, 155X, BhAM
282 | AfE 3 ERFEE|FAL—LA®3 7= L—2x |500 189 2 | 17.2 | 34.4 |MFIZE. 155X, AR
283 | &tg 3 ERDEE ERES 7= L—x (130 200| 4 48 | 19.2 |MmMAE. 15EEX, BHXM
284 AgE  3Bs EREE ERES 7= L—2x |320 200 2 12 240 |WEIE. 1.5EL L. BHAR
285 | AEE 3 ERUEE|»vveUVIL—L = L—2z |100 200 2 3.6 7.2 |WmBEE. 15EE X, AR
286 | AfE 3 ERUEME| A eUrIL—L = L—x | 90 200 1 3.6 3.6 |HBIE. 15EE X, BHAS
287 &fE 3B HEET = | 110 190 1 4.6 46 |HBZE. 15X, BHAS
288 | AfE  3BE LEE7 = L—=x |110 189 1 4.6 46 |FH=E, 1554, BIAS
289 A<fE 3B LHEES = W | 110 190 1 4.6 46 |FREE, 15EE 4. BIAS
290 A&fE 3B% HEES = L—=z |[110 189 1 4.6 46 |ABE. 155X, BiLS
291 AfE  3BE HEF9 = it 90 190 2 3.5 7.0 |MEIE. 15EE X, BHAS
292 &fE  3B% HEE9 = L—2 |90 189 2 3.5 7.0 |[MEIE. 15EEX. BHAR
293 Afg 3B PICU PICU A Zof | F—+k |250 210 2 6.2 | 12.4 EXEL. Bhkm
294 AXfE 3B PICU PICU B Zofts | F—k | 250 210 2 6.2 | 12.4 E XL, BHasR
295 Afg 3B PICU PICU C Zof | F—+k |250 210 2 6.2 | 12.4 EXEL. kM
296 | A&fE 3B PICU PICU D RIHEDIY [#xve 2z 550 185 1 | 13.2 | 13.2 E XL, BHsR
297 Afg 3B PICU PICU D RIETIY [ % v az| 500 185 1 12 12 EXEL. Bhkm
298| #AgE 3B PICU PICU EF RIHEDIY [#xve 2z 450 185 2 | 109 | 21.8 E XL, BHasR
299 Afg 3B PICU PICU EF R Y [* v 2= 400 185 2 9.7 | 19.4 EXEL. BhAm
300| &% 3 PICU PICU G R Y | v atiz| 300 185 1 7.3 7.3 E XL, BHsR
301| #&gE 3B PICU PICU G R Y |4 v afiz| 350 185| 1 8.5 8.5 EXEL. BHAm
302 A&f& 3B PICU PICU H BRI Y [*xvea=| 500 185 1 12 12 EXEL, BHasR
303| #&gE 3B PICU PICU H R Y |4y afiz| 300 185| 1 7.3 7.3 EXEL. BHAMm
304 | AfE 3B GCU-HCU[<=HU > ZL— LA BHEYIY |4y adE] 350 240 1 8.6 8.6 EXEL, BHAM
305 A<EE 3B% GCU - HCU BHE?2 = WS | 350 125 1 4.4 4.4 EXEL. BhAMm
306 | Afg 3 FRIEIZE A = W | 120 200 1 4.8 48 |HBI=E. 15EE X, BHAS
307 AfE  3B% RIEIEE A = L—=x |120 199 1 4.8 48 |FRE, 1554, BAIAS
308| Afg 3 RIGIEZEB = W | 140 260 1 7.5 75 |[KEIE. 15EEX. BHAR
309 AfE 3B% RIGIZEZEB = L—=x |140 259 1 7.5 75 |ABIE. 15EE X, BHAS
310 &g 3 RIGIEZEC = WX | 130 200 1 4.8 48 |HB=E. 15EE X, BHAS
311 Afg 3B RIGHEZEC = L—=x |130 199 1 4.8 48 |FRE, 1554, BAIAS
312 &fE 3B RIFIZEED = WX | 130 200 1 4.8 48 |HBI=E. 15EE X, BHAS
313 Afg 3B RIEZEZED = L—=x |130 199 1 4.8 48 |FRE, 1554, BHAS
314 &«fE 3B RIFIZEZEE = PEH 95 260 2 45 9.0 |(MEIE. 15EBEX. BHAR
315 Afg 3B RIGIEZEE = L—Xx | 95 259 2 45 9.0 |MBIE. 15FE X, BHAS
316 | AfE 4B AR 4015=E = WX | 220 278 1 | 11.2 | 11.2 |KFB&E. 155X, BhAM
317 Afg  4ABE AR 4012 = = L—2x |220 2771 1 | 111 ] 111 [KEE. 15EEe X, kM
318 &«fE 4B AR 40182 RIMHELI Y | v 2tz 250 235| 1 6.2 6.2 EXEL. XM
319 #f 4 & M018= R Y | #x v att=| 350 235( 1 8.5 8.5 EXEL, BHAM
320 AfE 4B SRR 4025 % = WX | 220 278 1 | 11.2 | 11.2 |KFE&E. 155X, BhAM
321 Afg ABE AR 4025 = L—2x |220 2771 1 | 111 ] 111 [KEE. 15EEe X, kM
322 &fE ARE AR 4025 RIMHELIY | v 2tz 250 235| 1 6.2 6.2 EXEL. XM
323| #m 4w 1028= DY | #x v att=| 350 235( 1 8.5 8.5 EXEL, BHAM
324 KREE 4B EEE 4035 % = WX | 220 278 1 | 11.2 | 11.2 |KFEE. 15X, BhEM
325 AfE  ABE AR 4032 = = L—2x |220 2771 1 | 111 ] 111 [KEE. 15EEe X, kM
326 | AfE 4R JRiE 4032 = R Y | v afi=| 250 235 1 6.2 6.2 EXEL, PR
327 AEE AR AR 4032 = R Y [*xve 2z 350 235 1 8.5 8.5 EXEL, BHash

6/12




(MERE]

No. AT A& EWl <ch> (:) /1 fHx

328 JA R 4055 F = WA | 220 278 1 | 11.2 FREE. 1L5Fe X, B
329 JE1R 4055 = L—x |220 2771 1 | 111 RRE. 15FE X B
330 JA R 4055 F RIETIY [ % v artz| 250 235 1 6.2 EXEL. BHRM
331 SR 4055 RIMEYIY | % vtz 350 235 1 8.5 EXEL, PR
332 JA R 4065 % = WA | 220 278 1 | 11.2 FEE. 1L5Fe X, B
333 1R 4065 = L—x |[220 2771 1 | 111 FRE. 1L5FE X B
334 SR 4065 ALY | x v aigz| 250 235| 1 | 6.2 EREL, BHAS
335 1R 40652 R Y [ %2tz 350 235| 1 8.5 EXEL, B
336 JA R 4118 % = WA | 220 278 1 | 11.2 FEE. 1L5Fe X, B
337 1R 4115=%E = L—x |[220 2771 1 | 111 RFRE. 1L5FE X B
338 SR 4115 % ALY | x v aigz| 250 235| 1 | 6.2 EREL, BHAS
339 1R 4115=%E R Y [ % v a2tz 350 235| 1 8.5 EXEEL, PR
340 JA R 4128 % = WA | 220 278 1 | 11.2 FEE. 1L5Fe X, B
341 1R 4125%E = L—x |[220 2771 1 | 111 FREE. 1L5EE X B
342 J TR 4125 =% BEIY | #x v aftz| 250 235 1 6.2 EXEL. BHRM
343 Pesgied 4125% R | % v ardz| 350 235| 1 8.5 E XL, BHash
344 JA R 4135 = = W | 220 278 1 | 11.2 RRZE. 1L5Fe X, B
345 AR 4135 % = L—2x | 220 2771 1 | 111 FRAZE. 1.5EFe X, B
346 JA R 4135 = RIETIY [ % vearts| 250 235 1 6.2 EREL, BHAS
347 Pesgied 4135% R | % v ardz| 350 235| 1 8.5 EXEEL, BHash
348 JA R 4155 = = W | 220 278 1 | 11.2 RRZE. 1L5Fe X, B
349 AR 4155 % = L—2x | 220 277 1 | 111 FRAZE. 1.5EFe X, B
350 Joa R 4155 % I Y [* v amz| 250 235 1 6.2 EREL, AR
351 Pesgied 4155 % R | % v ardz| 350 235| 1 8.5 EXEEL, BHash
352 JA R 4165 = = W | 220 278 1 | 11.2 RRZE. 1L5Fe X, B
353 AR 4165 % = L—2x | 220 277 1 | 111 FRAZE. 1.5Ee X, B
354 Joa R 4165 % I Y [* v amz| 250 235 1 6.2 EREL, AR
355 St 4162 %= R Y | v ati=| 350 235 1 8.5 EXEL, BHosh
356 JA R 2215=F = W | 220 2781 1 | 11.2 RRZE. 15FE X B
357 JTR 4218 F = L—2x | 220 2771 1 | 111 FRAZE. 1.5EFe X, B
358 SR TR 215%E RIE Y [ %> attz| 250 235 1 6.2 EXEL, RS
359 St 4218 %= R Y | v ati=| 350 235 1 8.5 EXEL, BHasR
360 JA R 4225 = = WA | 220 2781 1 | 11.2 RRZE. 15FE X B
361 JTR 4225 F = L—2x | 220 2771 1 | 111 FRAZE. 15EFe X, B
362 SR TR 4225 % RIE) Y [ %> attz| 250 235 1 6.2 EXEL, BHR&R
363 St 4228 R Y | v ati=| 350 235 1 8.5 EXEL, BHasR
364 JA R 4235 FE = W | 220 2781 1 | 11.2 RRZE. 15FE X Bk
365 JTR 42385 % = L—2x | 220 2771 1 | 111 FRAZE. 15EFe X, Bk
366 SR TR 4235 % RIED Y [ % v attz| 250 235 1 6.2 EXEL, RS
367 e 4232 %= DY | #x v att=| 350 235( 1 8.5 EXEL, BHosh
368 SR 4255 = W | 220 278 1 | 11.2 RRZE. 15EE X B
369 SR 4255 % = L—2x | 220 2771 1 | 11.1 FRZE. 15EFe 4. B
370 JRR 4255 % RIEEDY [xvsamz| 250 235 1 6.2 EXEL, AR
371 e 42523 R Y | #x v att=| 350 235( 1 8.5 EXEL, BHossh
372 SR 4265 = W | 220 278 1 | 11.2 RRZE. 15EE X B
373 SR 4265 F = L—2x | 220 2771 1 | 11.1 FRZE. 15EFe X, B
374 SR 4265 RIELY [ %> aftx| 250 235( 1 6.2 EXEL, BHR&R
375 e 42623 DY | #x v att=| 350 235( 1 8.5 EXEL, BHosh
376 SR 4318 = = W | 220 278 1 | 11.2 RRZE. 15EFE X B
377 SR 4318 % = L—2x | 220 2771 1 | 11.1 FRZE. 15EFe 4. B
378 SR 4315 RIMEYIY | % vtz 250 235 1 6.2 EXEL, PR
379 J TR 4318 F BEIY | #x v aftz| 350 2351 1 8.5 EXEL. BHRM
380 SR 4325 % = WS | 220 278 1 | 11.2 FRZE, 155X, BHAkms
381 RiR BE = L—2 |220 2771 1 | 111 FERE. 1L5Fe &, BAXka
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382 | AfE 4R R 4325 %= RN Y [x v 2mz| 250 235( 1 6.2 6.2 EXEL. BHRM
383 AEE 4B AR 4325 % RIMEYIY | % v atx| 350 235 1 8.5 85 EXEL, PR
384 | AfE 4R R 4338 % = WA | 220 278 1 | 11.2 | 11.2 |AFE. 1.5FE X, BHam
385 | AEE 4R EiE 4335 = = L—x |[220 277 1 | 111 | 111 |RFE. 15FE X, BHham
386 | AfE 4R fRAE 4335 = RIETIY [ % vearts| 250 235( 1 6.2 6.2 EXEL. BHRM
387| AEE 4B AR 4335 = R Y [ % v a2tz 350 235 1 8.5 8.5 EXEL, Bkm
388 | AfE 4R AR 4355 % = WA | 220 278 1 | 11.2 | 11.2 |AFE. 1.5FE X, BHam
389 | AEE 4B AR 4355 = L—x |[220 277 1 | 111 | 111 |RRE. 15X, BHam
390 AfE ARE AR 4355 % RIETIY [ % v arts| 250 235 1 6.2 6.2 EXEL. BHAM
391 | AEE 4B AR 4355 R Y [ %2tz 350 235| 1 8.5 8.5 EXEL, B
392| AfE 4R REE 4365 % = WA | 220 278 1 | 11.2 | 11.2 |AFE. 15FE X, BHam
393 | AEE 4B AR 4365 = = L—2x |220 277 1 | 111 | 111 |RRE. 15FE X, BHam
394 | AfE 4R R 4365 = RIETIY [ % v arts| 250 235( 1 6.2 6.2 EXEL. XM
395 | AEE 4R SRR 4365 = RIMEYIY | % v ardx| 350 235| 1 8.5 8.5 EXEL, PR
396 | AfE 4R R 4078 FE = WA | 150 200 2 6 12.0 |mE. 1.5E 4. BASR
397 | AEE 4R AR 4075 E = L—2x | 150 199 2 6 12.0 |MEBE. 155 4. BhiAS
398 | AfE 4R AR LTS E = WS | 250 200 2 9.6 | 19.2 |ME. 15F X, FBHAM
399 | AFE 4R AR 4075 E = L—2x | 250 199 2 9.6 | 19.2 |MME. 15FL X, XM
400 | AEE 4FE  FE ATEE R Y | vtz 300 235| 8 7.3 | 58.4 EXEL. BHAM
401 | AEE ABE AR LTS E = WA [ 150 200 2 6 12.0 |mBEE. 155 4. BhikS
402 | AKEE ARE  HIE MNTSE = L—2 |150 199| 2 6 12.0 |mE. 1.5E 4. BiASR
403 | AEE ARE AR LTS E = WH | 250 200 2 9.6 | 19.2 |MME. 15FE X, XM
404 | KEE ARE  HIE MNTSE = L—2 |250 199| 2 9.6 | 19.2 |ME. 15E X, FHAM
405| AEE 4R JEEE 47E=E DY | % v aftz| 300 235 8 7.3 | 584 EXEEL, BHash
406 | AEE 4ARE  HIE W215=E = W | 150 200 2 6 12.0 |mE. 1.5E 4. BiASR
407 | AEE ARE AR 2715 %F = L—2x | 150 199 2 6 12.0 |mBEE. 155t 4. BiAS
408 | AEE 4ARE  HIE W215=E = WS | 250 200 2 9.6 | 19.2 |ME. 15E X, FHEM
409 | AfE AR AR A215 = = L—2x | 250 199 2 9.6 | 19.2 |MAME. 15FL X, XM
410 AEE 4RE  RIE W215=E RIETIY [ % vrartx| 300 235| 8 7.3 | 58.4 EXEL. BAM
411 AfE AR AR 4375 = = WA [ 150 200 2 6 12.0 |mBE. 1.5EL 4. BASR
412 | KEE ARE  RIE 4375 = = L—x | 150 199 2 6 12.0 |mEE, 1.5E 4. BHAS
413 | AfE AR AR 4375 = = WH | 250 200 2 9.6 | 19.2 |MAME. 15F X, XM
414 | KEE  ARE R 4375 = = L—2x | 250 199| 2 9.6 | 19.2 |ME. 15F X, BHAM
415 | A2 4R JElkE 4372= R Y | v ati=| 300 235| 8 7.3 | 58.4 EXEL, BHash
416 | KEE 4B mE | TAL—L BREA4 = W | 350 308| 2 | 19.2| 38.4 |[mEE. 15EEX. Bk
417 XEE 4B R | TAL—L BEA4 = L—2x |350 307 2 | 191 | 38.2 |MRIE. 1.5FE X, BHam
418 | AEE 4BE B (T4 —vX—L = FL—7"]180 256 2 89 | 17.8 |MmZE. 15F X, FHAM
419 XEE 4B W | T4 —YXL—L = L—=x | 180 255( 2 89 | 17.8 |MAME. 15@F X, XM
420 BB ARE W [T —>RAn—L4| Fom | FL—7[110 150 1 3.8 3.8 |ABIE. 15EE K. AR
421 AEE  ABE R | T4 —YRL—L| ZTOM L—x | 110 149 1 3.8 3.8 |HBIE. 15EE X, AR
422 AEE AR O WE | TA4—YRL—L| ZToOH L—x |[270 145( 1 8.4 8.4 |KBE. 15EL X, BHAR
423 | ABE ABE IR [prorrrzu—ss = WH | 280 280 1 | 144 | 144 |FFE. 15FE X, BHRm
424 AKEE  4BE  HE |py7rLvEA-LS = L—2x |[280 279 1 | 144 | 144 |FBE. 15EE X, BHAR
425| KEE ARE AR RIEEE6 = WA | 280 280 1 | 144 | 144 |FFE. 15FE X, M
426 AEE 4BE R KIEEE 6 = L—2x |[280 279 1 | 144 | 144 |RFE, 15X, Ham
427 | TREREE 1R Ak 2ERE28 R Y [ %> adz| 250 180 1 45 4.5 EXEL, XM
428 | ObkEE 1BE Ak 2ERE287] | MY | X v atdE]| 200 180 2 8.1 | 16.2 EXEL, AR
429 | bkEE 1BE Al HRE2T R Y [ % v atz| 200 180 1 3.6 3.6 EXEL, AR
430 | bkEE 1BE 4k PRE26 R Y [ % v atz| 200 180 1 3.6 3.6 EXEL, AR
431 | bkEE 1BE Ak 2ERE25 R Y [ % v atz| 200 180 1 3.6 3.6 EXEL, AR
432 | IobkEE 1BE Ak PRE2 R Y [ % v atz| 200 180 1 3.6 3.6 EXEL, AR
433 | bkEE 1BE Sk PERE23 RIAEDY [x v am=| 200 180 1 3.6 3.6 EXEL, AR
434 | bkEE  1BE Sk PRE22 RIAEDY [xvoam=| 250 180 1 45 4.5 EXEL, AR
435 | bkEE  1BE 4k PRE21L RIAEDY [x v am=| 200 180 1 3.6 3.6 EXEL, AR
436 | IobkEE 1BE 4k AFMBEBZR] | MDY | v aix| 350 180 1 6.3 6.3 EXEL, AR
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437 | DR 1B PR NRMEZ | ML) |xoo=n=|350 - 180] 2 | 63 | 126 C XL, Bhiemn
438 | ImBkEE 1B Ak NEIB=E RIMHELDY [ X vtz 250 180 1 4.5 4.5 EXEL, PR
439 | #HEREE 1RE Sk HFE R Y [x v aez| 250 180 1 45 45 EXEL. XM
440 | ¥EMkEE 1Bk Alsk | Z@mmorHt (thy) | RV | x vy atdx| 350 180 1 6.3 6.3 EXEL, PR
A41 | ¥EMkEE 1BE AlSkE | Z@mmorHy (hdy) | RV | x vy atdx| 300 180 1 5.4 5.4 EXEEL, PR
442 | ¥EMkEE 1Bk AlSkE | ZZmmorEt (hdy) | RV | x v atdx| 650 180 1 | 11.7 | 11.7 EXEL, PR
443 | $RHKEE 1RE ARk |moewsooroon-s| BALDY | 4 vy atE| 350 180 2 6.3 | 12.6 EXEL. XM
444 | TREREE  1BE Ak |=roesroosomn| BMEY)Y | X vy aiE| 650 180 2 | 11.7| 234 EXEL, Bkm
A45 | fEHkEE 2BF  RAE By = FL—7"1300 279 2 84 | 16.8 |mBIZE, 155X, kM
Ad6 | EHkEE 2BF  FAE By = L—x |[300 278 2 84 | 16.8 |mBIZE. 155X, kM
447 | SREREE 2B EER BT = FL—7]250 279 2 7 14.0 |MEBRE. 155t &, BiAS
AA8 | EHkEE 2B RAE BT = L—2x |250 278 2 7 140 |MRE. 15B 4. BHAD
A49 | ¥EHkEE 2B RAE BT = FL—7"]100 200 2 2 40 |MmBAZE. 15EE XK. BHASR
450 | $RBkEE 2R JEiE BT = L—x |[100 199 2 2 40 |MBA=E. 155X, BHAS
A51 | EHkEE 2B RAE BT = FL—7"1300 279 2 84 | 16.8 |mBIZE, 155X, kM
452 | EHkEE 2B RAE BT = L—2Xx |[300 278 2 84 | 16.8 |mBIZE. 155X, BHAm
453 | RHLEE 2B JEIE 2115 = = KL—71300 150 2 45 9.0 |MEIE. 15FE X, HaS
454 | SRHKEE 2B EER 2115 = = L—=x 300 149 2 45 9.0 |MBIx. 15EE X, BHAS
455 | IRHkEE 2B EER 2115 = RIETIY [#xve 2z 250 180 1 45 45 EXEL. BhXm
456 | IRHKEE 2B EER 2115 = RIETIY [#xve 2z 400 180 1 7.2 7.2 EXEL. Bk
457 | SRHKEE 2B EER 2115 = RIETIY [#xveaez| 500 180 2 9 18.0 EXEL. BhkMm
458 | IRHKEE 2B JEER 2125 E = FL—7"1300 150 2 45 9.0 |MBIx. 15EE X, BHAS
459 | 3RHkEE 2B EER 2125 E = L—=x |300 149 2 45 9.0 |MBIx. 15EE X, BHAS
460 | 3RHKEE 2B EER 2125 E RIETIY [#xve 2z 250 180 1 45 45 EXEL. BhXm
461 | IRHKEE 2B EER 2125 E RIETIY [*xve 2z 400 180 1 7.2 7.2 EXEL. BhXm
462 | tRHKEE 2B EER 2125 E RIETIY [#xveaez| 500 180 2 9 18.0 EXEL. Bhkm
463 | IRHKEE 2B EER 2135 =F = FL—71]150 200 2 3 6.0 |MBIx. 15FE X, BHAS
464 | SRHKEE 2B EAR 2135 =F = L—=x |150 199 2 3 6.0 |MBIx. 15FE X, BHAS
465 | IRHKEE 2B EER 2135 =F = FL—71100 200 1 2 20 |ABI=. 15EE X, BHAS
466 | IRHKEE 2B EER 2135 =% = L—=x |100 199 1 2 20 |ABI=. 15(EE X, BHAS
467 | ¥EMkEE 2BF R 2138 =% = FL—71]150 279 1 4.2 42 |FRE=E, 15E5E 4. BAS
468 | ¥EMkEE 2B R 2138 =% = L—=x |150 278 1 4.2 42 |FRE=E, 15E5E 4. BHAS
469 | ¥EMkEE 2BF R 2138 =% RIHETIY [*xve 2=z 250 180 3 45 | 135 EXEL. BhAMm
AT0 | ¥EHkEE 2BF R 2138 RIHETIY [*xve 2=z 450 180 2 8.1 | 16.2 EXEL. XM
471 | RbkEE 2B vEiE 2732= R Y [x vy atiz| 550 180| 2 9.9 19.8 EXEL, BHasR
AT2 | ¥EMkEE 2BEF  RAE 2755 %F = FL—71]150 200 2 3 6.0 |MBIx. 15ZE X, BHAS
AT3 | ¥EHkEE 2BF FAE 2755 = L—=x |150 199 2 3 6.0 |MBIx. 15ZE X, BHAS
ATA| ¥EHkEE 2BF R 2755 % = FL—71]100 200 1 2 20 |ABIE. 15EE X, BHAS
ATS | EMkEE 2BF RAE 2755 %F = L—=x |100 199 1 2 20 |HABIE. 15EE X, BHAS
AT6 | ¥EMkEE 2BF R 2755 = FL—71]150 279 1 4.2 42 |FRE=E, 15EE 4. BAS
ATT | ¥EHkEE 2B /AR 2755 %F = L—=x |150 278 1 4.2 42 |FRE=E, 15E5E 4. BAS
ATS | EMkEE 2BF R 2755 % RIHETIY [#xve 2=z 250 180 3 45 | 135 EXEL. XM
479 | THEKEE 2F%F AR 2755 % RIEIY [ % v a2tz 550 180 4 9.9 | 39.6 EXEL. XM
480 | 3AHLEE 2B%F  AEE 2705 % = FL—71]150 200 4 3 12.0 | E. 155 4. BHASR
481 | AHLEE 2B AEE 2705 % = L—2x |150 199 4 3 12.0 | E. 155 4. BHASR
482 | mbkEE 2B vEiE 2708 = R Y [ v anzx| 250 180| 2 4.5 9 EXEL, BHAM
483 | tHEKEE 2P%F AR 2705 % RIETIY [ % v a2z 450 180 2 8.1 | 16.2 EXEL. XM
484 | THEKEE 2P%F AR 2705 % RIETIY [ % v a2tz 550 180 2 9.9 | 19.8 EXEL. XM
485 | 3AHLEE 2B AEE FA4a—+—1 = FL—71]150 195 1 3 3.0 |HBIE. 15EE X, BHAS
486 | $AHLEE 2B%F  JAER FA4a—+—1 = L—2x |150 194 1 3 3.0 |HBIE. 15EE X, BHAS
487 | sRHLEE 2B%F  AER FA4a—+—1 = FL—71]150 279 1 4.2 42 |FH=E, 15EEH. BAS
488 | iAHLEE 2B AME FA4a—+—1 = L—2x |150 278( 1 4.2 42 |FH=E, 15EE X, BAS
489 | 3AHLEE 2B JAEE 2765 = = FL—71]150 149 2 2.3 46 |mEE, 15EEX. BHAS
490 | 3AHLEE 2B AEE 2765 = = L—2x |150 149 2 2.3 46 |mRE, 15EE X, BHAS
491 | JREKEE 2P%F AR 2765 = RIETIY [x v amx| 200 180 1 3.6 3.6 EXEL. XM
492 | RHLEE 2B RER 21715 =E = FL—7|150 149 2 2.3 46 |mEE, 15EE X, BHAS
493 | RHLEE 2B AER 21715 =E = L—2x |150 149 2 2.3 46 |mEE, 15EE 4. BHAS
494 | 3RHLEE 2B AER 21715 =E RIETIY [xveamx| 200 180 1 3.6 3.6 EXEL. XM
495 | RHLEE 2B AER 27185 = = FL—7|150 149 2 2.3 46 |mEE, 15EE 4. BHAS
496 | 3RHLEE 2B AER 27185 = = L—2x |150 149 2 2.3 46 |mEE, 15EE 4. BHAS
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497 | AORE 288 Bl 21822 | BRIV |rooans]200 - 180] L | 36 | 36 C XL, Bhiemn
498 | EHkEE 2B R 2805 % = FL—7"1150 149| 2 2.3 46 |MBIE. 15E X, BAAS
499 | EHkEE 2B FAE 2805 % = L—2x |[150 149| 2 2.3 46 |MBIE. 15E X, BAAS
500 | RBKEE 2F%  JmiE 2805 % RIMHELIY [ X vtz 200 180 1 3.6 3.6 EXEL, PR
501 | #BkEE 2FF  RiE 2815 F = FL—71150 149| 2 2.3 46 |MBIE. 155X, BHAS
502 | LBkEE 2 EiE 2815 F = L—x |[150 149| 2 2.3 46 |MBIE. 15ME X, BHAS
503 | RBKEE 2F%  JEiE 2818 % RIMAELIY [x v artz| 200 180 1 3.6 3.6 EXEL, PR
504 | LBkEE 2FF  EiE 2825 F = FL—71150 149| 2 2.3 46 |MBE. 155X, BHAS
505 | BkEE 2FF  EiE 2825 F = L—x |[150 149| 2 2.3 46 |MBIE. 15ME X, BHAS
506 | #RBKEE 2F%  JEiE 2825 % RIMALIY [x v artz| 200 180 1 3.6 3.6 EXEL, PR
507 | $EMkEE 2B%  JEiE FAa—F—2 = FL—71200 195 1 3.9 39 |FBIE. 15EE X, BHAS
508 | $EMkEE 2B%  JEiE FAa—F—2 = L—2 |200 194 1 3.9 39 |FBIE. 15EEX. BHAS
509 | #BkEE 2 EiE FAa—F—2 = FL—7"1150 279 2 4.2 84 |MmBIE. 15EE 4. AR
510 | #atkEE 2F  fmiE FAa—F—2 = L—x |[150 278 2 4.2 84 |MRE. 1.5fE 4. AR
511 | #tkEE 2F  fmiE 2835 % = FL—7"1150 279 2 4.2 84 |MmBIE. 15EE4X. AR
512 | LtkEE 2  miE 2835 % = L—2x |[150 278 2 4.2 84 |MmBIE. 15EE4X. BHAS
513 | tkEE 2F  RiE 2835 % RIMALIY [x v artz| 200 180 1 3.6 3.6 EXEL, PR
514 | JEHkEE 2B%  FEER 2855 F = FL—71150 279 2 4.2 84 |MEIx. 15EE X, BHAS
515 | #EBkEE 2B%  FEiR 2855 F = L—=x |150 278 2 4.2 84 |MEIx. 15EE X, BHAS
516 | #ABkEE 2B%  FEER 2855 F R [ % vtz 200 180 1 3.6 3.6 EXEL. Bk
517 | #aHkEE 2B%  JEiR 2865 F = FL—7"1]150 279 2 4.2 84 |MEIx. 15EE X, BHAS
518 | #EBkEE 2B%  FEiR 2865 F = L—=x |150 278 2 4.2 84 |MBIx. 15EE X, BHAS
519 | #ABkEE 2B%  FEER 2865 F R [ % vtz 200 180 1 3.6 3.6 EXEL. Bhkm
520 | #EBkEE 2B%  EER 2875 % = FL—7"1]150 279 2 4.2 84 |MEIx. 15EE X, BHAS
521 | ¥EHkEE 2B%  JEER 2875 % = L—=x |150 278 2 4.2 84 |MBIx. 15EE X, BHAS
522 | ¥EHkEE 2B%  EER 2875 % R [ % v artx| 200 180 1 3.6 3.6 EXEL. Bhkm
523 | #EBkEE 2B%  EER 2885 F = FL—71]150 279 2 4.2 84 |MBIx. 15EE X, BHAS
524 | JEHkEE 2B%  EER 2885 F = L—=x |150 278 2 4.2 84 |MEIx. 15EE X, BHAS
525 | ¥EHkEE 2B%  EiR 2885 F R [ % vtz 200 180 1 3.6 3.6 EXEL. BhkMm
526 | BkEE 2 AR BT REE = WS | 200 275 2 55 | 11.0 |ME. 15fF X, kM
527 | EBkEE 2 AR BTRE=E = L—x |200 275 2 55 | 11.0 |ME. 15fF X, kM
528 | EBkEE 2 AR BTRe=E T WS | 450 265| 2 12 240 |mEE. 1.5 4. AR
529 | #mBkEE 2 AR BTRE=E Z D S| 300 185 1 5.6 5.6 |MmBIx. 15ZE X, BHAS
530 | #EBkEE 3B AR 3705 % = FL—7"1]150 277 2 4.2 84 |MBIE. 15EE K. BHAS
531 | #mBkEE 3B AR 3705 % = L—=x |150 274 2 4.2 84 |MEIE. 15EE K. BHAS
532 | EBkEE 3B AR 3705 % RIHETIY [*xveam=z| 200 180 1 3.6 3.6 EXEL. BhAMm
533 | EBkEE 3B AR 3718=E = FL—7"1]150 277 2 4.2 84 |MEIx. 15EE K. BHAS
534 | mBkEE 3B AR 3718=E = L—=x |150 274 2 4.2 84 |MEIE. 15EE K. BHAS
535 | mBkEE 3B AR 3718=E RIHETIY [*xveae=z| 200 180 1 3.6 3.6 EXEL. XM
536 | EBkEE 3B AR 3N2EE = FL—7"1]150 277 2 4.2 84 |MEIx. 15EE X, BHAS
537 | hBkEE 3B AR 3N2EE = L—=x |150 274 2 4.2 84 |MEIE. 15EE K. BHAS
538 | mBkEE 3B AR 3N2EE RIHETIY [*xveam=z| 200 180 1 3.6 3.6 EXEL. XM
539 | #ABkEE 3BE  EiE 3738 =% = FL—71]150 277 2 4.2 84 |MBIE. 15EE X, BHAS
540 | #EHkEE 3BE  JAiR 3738 =% = L—2x |150 274 2 4.2 84 |MBIE. 15EE X, BHAS
541 | EBkEE 3BE  EER 3738 =% R Y [*xveam=| 200 180 1 3.6 3.6 EXEL. XM
542 | $EHkEE 3BE  EER 3755 = FL—71]150 277 2 4.2 84 |MBIE. 15FE X, BHAS
543 | #EBkEE 3BE  EiE 3755 = L—2x |150 274 2 4.2 84 |MBIE. 15EE X, BHAS
b44 | $EHkEE 3BE  JEiR 3755 RIHETIY [*xveae=| 200 180 1 3.6 3.6 EXEL. XM
545 | $EBkEE 3BE  EiR 3765 = = FL—71]150 277 2 4.2 84 |MBIE. 15EE X, BHAS
546 | $EBKEE 3BE  EiE 3765 = = L—2x |150 274 2 4.2 84 |MBIE. 15EE X, BHAS
b47 | EHkEE 3BE  EiR 3765 = R Y [*xveae=| 200 180 1 3.6 3.6 EXEL. XM
548 | #EBkEE 3BE  EEE 3TTEE = KL—7"1200 277 1 5.6 5.6 |HABIE. 15EEX. BHAS
549 | ¥EHkEE 3BE  EiE 3TTEE = L—2x |200 276 1 5.6 5.6 |HABIE. 15EEX. BHAS
550 | #ABkEE 3BE  EiE 3TTEE = FL—71]150 200 3 3 9.0 |HABIE. 15EE X, BHAS
551 | ¥ABkEE 3BE  EiE 3TTEE = L—2x |150 199 3 3 9.0 |HABIE. 15EE X, BHAS
552 | ¥EtkEE 3B%  EIR 3NTEE RIETIY [xveanx| 250 180 2 45 9 EXEL, BHosh
553 | ¥AbkEE 3BE  EEE 3NTEE R Y [*xve 2= 450 180 2 8.1 | 16.2 EXEL, BHosh
554 | ¥EBkEE 3BE  EEE 3NTEE R Y [*x v 2= 550 180 2 9.9 | 19.8 EXEL, BHash
555 | ¥ABkEE 3BE  EEE 3782 =E = FL—71200 277 1 5.6 56 |HABIE. 15EEX. BHAS
556 | ¥ABkEE 3BE  EEE 3782 =E = L—2x |200 276 1 5.6 56 |HABIE. 15EEX. BHAS
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557 | JAIKEE 30E ik 8 7% FC— 7 ]150 - 200 3 | 90 |FBE. LoEEX. Blm
558 | LBkEE 3B miE 8 = L—x (150 - 199 3 9.0 |FBIE. 154X, BHAR

559 | fAtkEE 3fE R

]

Ry |xveyatix| 250 - 180 4.5 9.0 EXEL, PR

560 | fAbkEE 3fE R

o]

Ry |xveatix| 450 - 180 8.1 16.2 EXEL. BhAMm

561 | fabkEE 3fE R

[e'e]

)Y |xvyafix|[ 550 - 180 9.9 | 19.8 EXEL. BHAMm

562 | fatkEE 3fE R

o

FL—71200 - 277 5.6 56 |[FEZE. 15EFEX,

563 | fatkEE 3fE R

o

L—Xx [200 - 276 5.6 56 |[HFEZE. 15EFEX,

o

564 | kAR 3R JEAE FL—71150 - 200 3 9.0 |FHE, 15EEX

o | ot | o | o
g F|&F g
e X[ x |
Bo|Eo|Eo|Eo

565 | fabkEE 3fE R

o

L—x [150 - 199 3 9.0 [HBE. 15fEE X,

566 | fatkEE 3fE R

o

RIMEYIY [#xvsardz[ 250 - 180 45 9.0 EXEL. BHAMm

567 | fatkEE 3fE R

o

RIMEYIY [xvsardz|450 - 180 8.1 16.2 EXEL. BhAMm

568 | #ABkEE 3BE  FEiR 0 R Y [xveards[550 - 180 9.9 | 19.8 EXEL, Bkm
569 | #ABkEE 3BE  FEiR 1 = FL—>1150 - 200 3 12.0 |mEE, 15EE 4. BHAS
570 | ¥EBkEE 3BE  FEER 1 = L—Xx |150 - 199 3 12.0 | E. 1585 &, AR
571 | ¥EBkEE 3BE  FEER 1 RIEIY [xvears[ 250 - 180 45 9 EXEL, Bkm
572 | ¥EHkEE 3BE  FEER 1 RIEIY [#xvears|[ 450 - 180 8.1 | 16.2 EXEL. XM
573 | ¥atkEE 3B bt 1 Bt | #v>adx| 550 - 180 9.9 19.8 EXEL, BHRMm
574 | #EHkEE 3BE  EIR 2 = FL—71150 - 200 3 12.0 |ABEE. 155X, BiAS
575 | #EHkEE 3B% AR 2 = L—2Z |150 - 199 3 12.0 |mBE. 155 &, BikS
576 | #EHkEE 3BE  EIR 2 RIEIY [xvears[250 - 180 45 9 EXEL. Bk
577 | #EtkEE 3B%  JEIR 2 RIEIY [xvears[450 - 180 8.1 | 16.2 EXEL. BhkMm
578 | #EHkEE 3BE  EIR 2 RIEIY [xvears[550 - 180 9.9 | 19.8 EXEL. BhAm
579 | #EHkEE 3B% AR 3 = FL—71150 - 200 3 12.0 |MEBEE. 155 4. BikS
580 | #EtkEE 3B% AR 3 = L—2Z |150 - 199 3 12.0 |mBEE. 155 4. BikS
581 | #EHkEE 3BE  EIR 3 RIEIY [xvears[250 - 180 45 9 EXEL. BhXm
582 | ThkEE 3FE AR 3 R [xv>arz[ 450 - 180 8.1 | 16.2 EXEEL, BHash
583 | #EtkEE 3BE  EIR 3 RIEIY [xvears[550 - 180 9.9 | 19.8 EXEL, Bkm
584 | #EHkEE 3B%  EIR 5 = FL—=1200 - 277 5.6 56 |HBIE. 15X, AR
585 | #EHkEE 3BE AR 5 = L—XZ |200 - 276 5.6 56 |HBIE. 15X, AR
586 | #EHkEE 3BE  EIR = FL—71150 - 200 3 9.0 |HBIE. 15L&, AR
587 | ¥EbkEE 3BE  EiE = L—2Z |150 - 199 9.0 |HBIE. 15EE K. AR
588 | FEBKEE 3 JEiE 5 Ry |xvyaftz| 250 - 180 4.5 9 EXEL, BRS
589 | #AbkEE 3BE  FEiE 5 RIETIY [xveams|[450 - 180 8.1 | 16.2 EXEL, BRS
590 | #ABkEE 3BE  EiE 5 RIEIY [xvearx[550 - 180 9.9 | 19.8 EXEL, BRS

591 | fabkEE 3fE AR

[e)]

FL—>71200 - 277 5.6 5.6 |FHE. 15EEX

592 | ¥atkEE 3fE  JRME

[e)]

L—X 200 - 276 5.6 5.6 |FHE. 15EEX

593 | fabkEE 3fE AR

[e)]

FL—71150 - 200 3 9.0 |FHE, 15EEX

t?t?t?t?
Re| 8% | | %
Bo(Bo|Bo|Eo

594 | fatkEE 3fE  JRME

[e)]

L—Xx 150 - 199 3 9.0 |FHE, 15EEX

595 | HabkEE 3fE  JRME

[e)]

Iy | xv>adz[ 2560 - 180 4.5 9 EXEL, AR

596 | fatkEE 3fE  JRME

[e)]

Bty | xv>adzl 450 - 180 8.1 16.2 EXEL, AR

[e)]

597 | HabkEE 3fE  JRME 9.9 [ 19.8 EXEL. A

REY)Y |4y am=[550 - 180

598 | #HHKEE 3R JEAR FL—71150 - 200

]

3 12.0 |WEE. 1.5FEX, B

%% e
Bo(EBo

599 | #ABkEE 3BE  EiE = L—=x [150 - 199

Yy

3 12.0 |mEE. 1.5Fe 4, B

600 | RHkEE 3BE AR

Yy

Bty | xv>adx[ 2560 - 180 4.5 9 EXEL, AR

601 | ¥ABkEE 3BE AR

Yy

Bty | xv>adxl 450 - 180 8.1 16.2 EXEL, AR

602 | RBkEE 3BE R

Yy

Bty | xv>adx[ 550 - 180 9.9 19.8 EXEL, AR

603 | ABkEE 3BE AR

[e¢]

FL—>71200 - 277 5.6 5.6 |FHE. 15EEX

604 | RBkEE 3BE AR

[e¢]

L—2Xx 200 - 276 5.6 5.6 |FHE. 15EEX

605 | AHkEE 3BE AR

[e¢]

FL—71150 - 200 3 9.0 |FHE, 15EEX

bﬁbﬁbﬁbﬁ
e haba b
So(Bo|Bo|Eo

606 | ABkEE 3BE AR

[e¢]

L—2Xx [150 - 199 3 9.0 |FHE, 15EEX

607 | RBkEE 3BE AR

[e¢]

Bty | xv>adx[ 2560 - 180 4.5 9 EXEL, AR

[e¢]

608 | ¥ABkEE 3BE  EiE RIHEIY [#xveae=[450 - 180 8.1 | 16.2 EXEL. XM

609 | RHkEE 3BE AR

[e¢]

Ry [xvevar=[550 - 180

9.9 19.8 EXEL, BHassh

610 | HabkEE 3fE  JRME 5.6 5.6 | BT, 15fFE X,

o

FL—>71200 - 277

611 | ¥ABkEE 3BE R

o

L—2Xx [200 - 276 5.6 5.6 |FHE. 15EEX

612 | ABkEE 3BE R

o

FL—71150 - 200 3 9.0 |FHE, 15EEX,

ﬁﬁ?bﬁ
SRR R R
Bo|Bo|Eo| Bo

613 | AMkEE 3BE R

o

L—x 150 - 199 3 9.0 |FHE, 15EEX,

WIWWIW|WW[W]WIW[W]W|W|W[W]WIWW]W[W]W[W]WIWIW]W[W]|W[W]W|WIW]WW|W[WWIWIW]W[W|WlW|lW]lWlwW|lWlw|lw|lw|[w|w|lw|lw|lw|lw|lw|lw]|w|w
[{o] Ko} (o] Nic} Nic) RYc] Nool Mool Nool Noo) Nocl Nool Nocl Neol Noo) Neol oo} ool Neo} Neol Ne ol Noo) Nool Hool Neool Nool Noo} ool Noo) ool Hool Noo) Neo} Noo} ool Noo) oo} Nool ool Neol Nool Neool Noo} oo} Noo) Noo) Neoo) Ne o) Neo} oo} Ne'ol Neol Ne ol Neol RaSl RaXE RSl RaXE BaX|
o1

afn| afe | afe | ofo { ofo f ofo f ofo | <fo| oo o) Ao | dfo | ofe | ofe f Jfo f ofo f ofo f ofo | ofo | oo | oo | do | dio| afe | Jfe | Jfo f ofo f ofo f olo Siﬂﬂ afn | afo | ofo f ofo f ofo f ol | ofo | oo o dio | afo | ofe | Jfo f ofo f ofof ofof afo| oo o) dio| dfo| off | Jfo f ofo f ofo f ofo| gfo| <fo| Jio| o

O T { RSO T { | A T { RSO T | | RO O { OO | | RO O { S | | OO O { ST | | OO O { ST | S { OO O { ST | | OO O { ST R S { RO O { ST R | RO O { ST AR O { OO O { S| A | RO 0 { S| AR

NN R N S S Y N Y R R B I S B RS EN ES BN DS BN B RS Y Y N DS S S RS =Y =Y N DN N1 EN S ENT BN EN] S SN ENY XY KN NS IS R ECY Y (YUY ROty [P Y PGS XY Y C) ot
w

614 | HaBkEE 3fE  RE 0 BEIY |#vvamz|250 - 180 4.5 9 EXEL. AR
615 | HatkEE 3fE MR 0 BEIY |#vvamz 450 - 180 8.1 16.2 EXEL. AR
616 | HAtkEE 3fE  RME 390 BEIY |#vvamz[ 550 - 180 9.9 19.8 EXEL. AR
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617 | JLBLEE 3B R 3915 %= ® | FL—71200 - 277] L | 56 | 56 |EBI=. LomEX. bhm
618 | BkEE 3B EiE 3915 % = L—2Xx |[200 276 1 5.6 56 |FBIE. 154X, AR
619 | $AbkEE 3B JEiE 3915 = FL—71150 200 3 3 9.0 |FBIx. 15EEX. BHAS
620 | LBkEE 3B EiE 3915 % = L—2x |[150 199 3 3 9.0 |FBIE. 154X, BHAR
621 | LBkEE 3B AR 3915 % RIMEYIY [ % vtz 250 180 2 45 9 EXEEL, PR
622 | ILBkEE 3B AR 3915 % RIMEYIY [ % vtz 450 180 2 8.1 16.2 EXEL, PR
623 | $EbkEE 3BE  JEiE 3918= R Y [ % v adz| 550 180 2 9.9 | 19.8 EXEL. XM
624 | ILBkEE 3B AR By = FL—7"1150 200| 4 3 120 |MRE. 15E 4. BHAD
625 | $AbkEE 3B JEiE RE = L—2 |[150 199 4 3 12.0 |MBZ. 1.5B5L X, BHAS
626 | $AHKEE 3BE  JEiE RE = FL—71200 279 2 5.6 | 11.2 |MFEE. 15E X, kM
627 | ILBkEE 3B AR BE = L—2Xx |200 277 2 5.6 | 11.2 |mBZE. 1.5F X, AR
628 | $AHkEE 3BE  JEiE FAa—4+—1 = FL—71200 279 1 5.6 56 |FBIE. 15EEX. HAS
629 | sHBKEE 3B MR FAa—+—1 7= L—2 |200 2771 1 5.6 56 |FBIE. 15EE4X. BHASR
630 | $AbkEE 3B JEiE FAa—4+—1 = FL—71150 200 1 3 3.0 |FBIE. 15EEXR. HAS
631 | $EbkEE 3B JEiE FAa—4+—1 = L—2 |[150 199 1 3 3.0 |FBIE. 15EE X, BHAS
632 | $abkEE 3B JEiE FAaA—F—=2 = FL—71150 275 2 4.2 84 |MBIE. 15EL L. BHAR
633 | BkEE 3B EiE FAa—F—2 = L—x |[150 274 2 4.2 84 |MmBIE. 15EEL4X. BHASR
634 | JEHkEE 3BE  FEER FAa—F+—2 = KL—7"1200 200 1 4 40 |FE=E, 1554, BIAS
635 | #ABkEE 3BE  FEER FAa—F+—2 = L—2x |200 199 1 4 40 |FREE, 1554, BIAS
7401.9
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